


RATIOS

 SACRIFICING RATIO- Sacrificing ratio refers to the ratio in 
which the old partners surrender their share of profit in favor of 
new partner/s

Sacrificing Ratio 

Old Ratio- New Ratio

New Ratio  

Old Ratio – Sacrificing 
Ratio



GOODWILL AND TREATMENT
 Goodwill is an intangible and not fictitious 

asset that accounts for the excess purchase 
price of another company.



Case (a) When goodwill is paid privately/ outside business

Case (b) When the New partner bring his share of goodwill

OR  When the amount of Premium brings in cash and 
retained in business.

Case (c) When goodwill appear in old balance sheet



Case (d) If New Partner does not brings his share of Goodwill 

Case (e) If New Partner brings in only Part of share of Goodwill

Case (f) If Goodwill withdrawn by sacrificing Partners



Case (g) When the New Partner brings his goodwill in kind

Case (h) When goodwill is hidden

when value of the goodwill of the firm is not given then the value of goodwill 
has to be calculated on the basis of the Net worth of the firm as under



REVALUATION ACCOUNT
is a nominal account, also known as 
Profit & Loss Adjustment Account, 
prepared to record the re-valued figure of 
assets and liabilities at the time of change 
in profit sharing ratio among the existing 
partners.





Accounting Treatment of Reserve, 
Accumulated Profit /Losses

OLD 
BALANCE 

SHEET

OLD 
PARTENERS

( OLD 
RATIO)

Reserve, 
Accumulated 
Profit  OR 
Losses



ACCUMULATED PROFIT

ACCUMULATED LOSS



LET THERE BE PARTNER A AND B.  
THEY ADMIT PARTNER C. 

A

B
C



PARTNER’S CAPITAL ACCOUNT



CAPITAL ADJUSTMENT

CASH BOOK



PRACTICE QUESTIONS
 RULES FOR LIABLITIES 

 RULES FOR ASSETS

 RULES FOR BALANCE SHEET

 RULE FOR UNRECORDED ASSET AND LIABILITY

 RULE FOR OUTSTANDING EXPENSE AND INCOME

 RULE FOR PREPAID EXPENSE AND INCOME

 RULE FORPROVISION/RESERVE/FUND ADJUSTMENT

 RULE FOR PROVISION FOR DOUBTFUL DEBT

 RULE FOR WORKMEN COMPENSATION FUND

 RULE FOR INVESTMENT FLUCTUATION RESERVE



RULES FOR LIABLITIES



 Adjustment.1:-Liability were proved at 23,000 one bill for 
goods purchased having been omitted from books.

 Adjustment.2:-A Liability for 1,000 included in sundry 
creditor was not likely to arise.



 Adjustment.3:-An item of 650 Included in S. creditor was not 
likely to be claimed and hence should be written back

 Adjustment.4:-Good purchased on credit from a supplier had 
been admitted the amount being 650



 Adjustment.5:-It was found that the creditor included a sum 
of 1,400 which was not to be paid.

 Adjustment.6:-An amount of 2,000 included in creditor is to 
be written off as there is no liability to pay the amount



 Adjustment.7:-A Provision of 2% be made for Discount on 
creditor

 Adjustment.8:-O/S Exp are to be raised by/increased 
by/appreciated by 3,000



 Adjustment.9:-O/S Exp are to be raised to/increased 
to/appreciated to 3,000

 Adjustment.10:-O/S Exp are to be written off



IN CASE: LIABILITY TAKEN BY PARTNER

 Adjustment.11:- If Liability of 10,000 taken by Partner 
Anurag.



 Adjustment.12:- If sundry creditor taken by Anurag at 13,000

 Adjustment.13:- If Sundry creditor taken by Anurag at 16,000



RULES FOR ASSETS



 Adjustment.1:- value of P & M be valued at 1,25,000

Value of P&M be Increased/Appreciated to/raised to 1,25,000

Value of P&M Appreciated to/AT 125%

Adjustment.2:- value of P&;M be Increased/Appreciated 
/raised by 1,25,000

Value of P&M be valued at 125% More



 Adjustment.3:- value of P&M is under valued by 25,000

 Adjustment.4:- Value of P&M is over valued by 40,000



 Adjustment.5:-value of P&M valued at 20% Less/ decreased

 Adjustment.6:- Value of R 8 M be depreciated to 20%



 Adjustment.7:- P&M written off

 ASSETS TAKEN BY PARTNER



RULES FOR BALANCE SHEET



 Adjustment.2:- 30% &amp; total P&M were taken by a 
partner Anurag at a profit of 10%.

➢1,00,000 X30/100 =30,000 + 30,000X 10/100(3,000) =33,000

 Adjustment.3:- 20% If total P&M were taken by partner 
Anurag and vivek in Profit sharing Ratio 3:2.

➢ 1,00,000 X20/100 =20,000 3:2 12,000: 8,000



RULE FOR 
UNRECORDED ASSET

UNRECORDED LIABILITY



RULE FOR OUTSTANDING EXPENSE 

ACCRUED INCOME



RULE FOR PREPAID EXPENSE 

PREPAID INCOME



RULE FOR PROVISION/ RESERVE/ 
FUND ADJUSTMENT











 *THERE IS NO EFFECT OF BAD DEBT RECOVERED ON DEBTORS IN BALANCE SHEET



RULE FOR PROVISION FOR DOUBTFUL 
DEBT



RULE FOR WORKMEN 
COMPENSATION FUND



RULE FOR INVESTMENT 
FLUCTUATION RESERVE





CAPITAL ADJUSTMENT
➢TYPE:-Profit Sharing Capital Adjustment

 Adjusted the capital of old partners on the basis of 
capital of new partner share capital.

 Capital of old partners/ all partners adjusted in profit 
sharing ratio/ new profit sharing ratio.

 Fixed Capital is Given

➢TYPE:-Proportionate capital adjustment.( New partner 
capital is not given )

 When new partner brings capital on the basis of old 
partner capita.



CALCULATE TOTAL CAPITAL OF NEW FIRM

NEW PARTNER CAPITAL IN EXTENDED PARTNER CAPITAL A/C X RECIPROCAL 
SHARE OF NEW PARTNER.

TOTAL CAPITAL OF NEW FIRM DISTRIBUTED

TOTAL FIXED CAPITAL DISTRIBUTED IN ALL PARTNERS, NEW RATIO.

ADJUSTMENT

AFTER CAPITAL ADJUSTMENT THERE IS SURPLUS/ EXCESS CAPITAL OR SHORTAGE/ 
DEFICIENCY OF CAPITAL WHICH IS ADJUSTED BY JOURNAL ENTRY.





QUESTION FOR PROPORTINATE CAPITAL ADJUSTMENT:-
A and B are in partnership sharing profit and losses in the ratio of 3:2. The 
Capital of A and B remaining after adjustment are 80,000 and 60,000 
respectively. Calculate incoming partner’s proportionate capital in the 
following alternative cases:-

Case (a):-If C is to proportionate capital for his 1/5 th share OR If C is to contribute 1/5 th of 
the total capital of the new firm.
Solution
Let the Total Firm Capital =1
New partner share capital ( C’s share Capital ) =1/5
Remaining Capital = 1- 1/5 =4/5
4/5 th Capital = Combined Capital of old partners after all adjustment( 80,000 +60,000)
Then total firm Capital =1,40,000 X 5/4
Then C’s Share Capital = 1,40,000 X 5/4 X1/5 =35,000
Case (b):- If C is to contribute 1/5 th of the combined capital /Total Capitals of the existing 
/ old partners.
Solution 
C’s Share Capital =1/5
Combined Capital / Total Capital of A and B. =80,000 + 60,000 =1,40,000
C’s Share Capital = 1,40,000 X 1/5 =28,000


